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文字を用いた式（１） 

  年   組 
 
名前 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

１ x に当てはまる数を求めましょう。 

 
① x × ４ ＝ １２ 
                 𝑥𝑥 ＝ １２÷４ 
                 𝑥𝑥 ＝ ３ 
 
 
 
② ８ × x ＝３ 
                𝑥𝑥 ＝３÷８ 

           𝑥𝑥 ＝ ３
８

 

 
 
③  x × ５ ＝ ２ 

             𝑥𝑥 ＝ ２÷５ 

             𝑥𝑥 ＝  ２
５
（0.4） 

 
 
④ ３ × x ＝ １０ 

           𝑥𝑥 ＝ １０÷３ 

           𝑥𝑥 ＝  １０

３
 

 
 
⑤  x × ２１ ＝ １０ 

                 𝑥𝑥 ＝ １０÷２１ 

                 𝑥𝑥 ＝ １０

２１
 

 
 

 
⑥  ５９ × x ＝ １７ 
                       𝑥𝑥 ＝ １７÷５９ 

                      𝑥𝑥  ＝  １７

５９
 

 
 
⑦  x × １９ ＝ １４ 
                       𝑥𝑥 ＝ １４÷１９ 

                       𝑥𝑥 ＝  １４

１９
 

 
 
⑧ ０．１ × x ＝ ５ 
                         𝑥𝑥 ＝ ５÷０．１ 
                         𝑥𝑥 ＝ ５０ 
 
 
⑨ １．５ × x ＝ １２ 
                         𝑥𝑥 ＝ １２÷１．５ 
                         𝑥𝑥 ＝ ８ 
 
 

⑩ 
１

２
 × x ＝ ５ 

                 𝑥𝑥 ＝ ５÷
１

２
 

                 𝑥𝑥 ＝ ５×２

１×１
 

                 𝑥𝑥 ＝ １０ 
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Ａ
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